4 | 3 B 4 2 1

MODELS AVAILABLE (CLOPAY/ HOLMES/ IDEAL) S=EoF REVISIONS
524W8, 520W8 / 224W8 / CASTWS. COSTWE REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
! ! 01 = 08/2016 - SH REMOVED WIND SPEED TABLE.
02 - 02/2022 - JOW REVISED FOR TDI.
NUMBER OF o
DOOR WIDTH CENTER
STILES
UP_T0 6 2 2
6’3" THRU 8'-2’ 3
8'-3" THRU 10'-2* 4
10'-3"_THRU 12'-2 5 DOUBLE END STILE
+—n
:
THIS PRODUCT COMPLIES
| —1F n WITH THE 2018 IBC/IRC.
A v VIEW "B"
o =
: VIEW "C"
i‘ T~ T—STRUT. SEE SECTION A—A
NE%HEE FOR MOUNTING DETAILS AND C
A , I , Iy SPECIFICATIONS.
— | MIN. TWO POINT
; LOCKING REQ'D.
!
I

—e= 22" 0.C. |==—o ‘ ‘_
o i DOOR THE R ENTS O

R TS MEETS EQUIREM FTAE

MAX. DOOR WIDTH: 12-2 LARGE_MISSILE IMPACT AND CYCLIC TESTING. _|

— [NUMBER OF #14x5/8" SHEET METAL SCREWS
DOOR HEIGHT A" ['C2rTiins
UP TO 8-0° 4
8'-3" THRU 10'-0” 5
10'-3* THRU 12'-0° 6
12'-3* THRU 14'-0* 7
14’-3” THRU 16'-0° 8 1/4"x3/4" SELF
16'-3* THRU 18'-0° 9 TAPPING SCREWS.
14 GA._END HINGES 14 INT IATE_HI
VIEW "B" VIEW "C”
SNAP LATCH ENGAGES .
ONTO VERTICAL TRACK. END B i
ONE SNAP LATCH ON STILE. _ - Bt
ST BT TocK EACH SIDE OF DOOR. MANUFACTURI‘N@‘PRUDUCT CODE
END ENOAGESTINTD DESIGN LOADS: +52.0 P.S.F. & —58.0 P.S.F Lo IE445
o +92. 5 T =28, S.F.
STILE. XE'ET'ESEKT%\,\?K' %ISIPEE TEST LOADS: +78.0 P.S.F. & —87.0 P.S.F. PART NO.: N/A A
EACH SIDE OF  ouTsiDE : LOCK BAR Unless_Stated Otherwise | (] 8585 Duke Boulevard WINDLOAD RATING
Soon e eno ey | ToleraceSo | Blopay e SEER |\ STIEES ¢
MANDILE: STILE. Eféﬁ"s%"é 0= +.031 |CORPORATION  Fax No. 513-770-4853 8 C
NSIDE 5 OF DOOR. 688 s 1'882 DESCRIPTION:  COMMERCIAL RIBBED DOORS UP TO 12'2"W (SEE TABLE)
SIDE HANDLE 000 = +. : ; .
INSIDE_SLIDE_BOLT _— . ITHAN OUTSIDE KEYED LOCK WITH 0000 = +.001 |DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
SERiI%ESTEESéPDEEPRé SNAP_LATCH LOCK OPTION. LOCK BAR LOCKING, Degrees = £1/2' |CHECKED BY: SH DATE: 1/10/13 |SHEET 1 OF 3 |SIZE
, P.E. Unless Stated Otherwi
FLORIDA P.E. #48495,_ NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INGHES.| DWG. NO.: 104813 VER: TDI

4 | 3 » 2 1



HORIZONTAL (TOP) JAMB
/_ (NO LOAD FROM DOOR)
AN

JAMB TO SUPPORTING STRUCTURE ATTACHMENT

! (L

NOTES:
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO
. THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS

) \\

FASTENER
TYPE

TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +312 LB & -34B LB. PER LINEAR

4 | 3 * 2 1
SHEET: REVISIONS
MODELS AVAILABLE (CLOPAY/ HOLMES/ IDEAL) 2 OF 3
REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
524W8, 520W8 / 224W8 / C4STW8, COSTW8 02 = - SEE REVISION HISTORY ON SHEET ONE.

SECTIONS ARE 1-7/87 THICK

PANELS ROLL FORMED OF
022 MIN, HOT DIPPED G-40
GALVANIZING, ROLL FORMED

I

ON DOOR WITH (4) #14 X
SHEET METAL SCREWS

4. A 1/3 STRESS

MAX.

0.C.

DETAILED BELOW

/— 2x6 VERTICAL JAMB ‘\
/

™.

DESIGN ENGINEER:
MARK WESTERFIELD, P.E.

FOOT OF JAMB.
3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A
FLUSH MOUNTING SURFACE.

INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE

LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY.

NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER,
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS

SHOULD BE INCREASED IN LENGTH BY 1-—1/2" AND INSTALLED DIRECTLY

THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK
WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH
MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TO GROUT
REINFORCED BLOCK WALL OR 3,000 PSi MIN. CONCRETE COLUMN OR STEEL JAMBS.

r

[—4"—

4—1/4"

VIEW ”D”

4" TALL TAPER STRUT.

STEEL.

N

EACH T-STRU
AT EACH STIL

U
/

END HINGE. SEE DETAILS

TONGUE & GROOVE JOINT.—/ AT VIEW "B" ON SHEET 1.

f

ADJUSTABLE TOP ROLLER BRACKET
OF 12 GA. GALV. STEEL, INSTALLED

5/8" LG

ONE 4" T—STRUT PER
SECTION. (SEE VIEW "D")

T ATTACHED
E LOCATION

WITH (2) 1/4"x3/4" SELF
TAPPING SCREWS.

(2) STACKED LHR BRACKETS USED

0.057" MIN. GALV. STEEL, -t
DRSO AS INNER BOTTOM BRACKET (NOT . B
| SHOWN). SN
| ji_q.«r‘*_‘:’. »
BOTTOM ROLLER BRACKET OF 12 AL .--:=*
BOTTOM SECTION REINFORCED é “ M. GALV. STEEL, FASTENED WER &
WITH TEMPERED ALUMINUM [ g{:)Ré’VJs" X5/8" LG BT, ”T's“;'" :
EXTRUSION WITH INTEGRAL | 1@ it 2
RETAINER FOR FLEXIBLE VINYL e/ =
NER ATTACH PP T R ASTRAGAL\ S
MAXIMUM e
ON—CENTER
DISTANCE  [STEEL SECTION A—A (S|DE VIEW) \*.
BETWEEN , [WASHERS &)
BUILDING TYPE FASTENER TYPE FASTENERS*|REQUIRED?
HOLLOW BLOCK WALL 1 ;4' x —1,;4" MIN. EMBEQ ULTRACON cggoﬁgngs ANCHOR 5—1;4" 1" 0.D.
GROUT FILLED BLOCK WALL [1/4" x 1—3/4" MIN. EMBED ULTRACON RETE_ANCHOR 8-3/4" 1"_0.D.
2000 PS| MIN. CONCRETE | 1/4" x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 7-1/2" __|1° 0.D. MANUFACTURING PRODUCT CODE
2000 PSI MIN. CONCRETE | 1/4” x 1" MIN. EMBED TAPCON CONCRETE ANCHOR 6-1/2" 1" 0.D. C-PAN-1E448
12000 PSI MIN. CONCRETE |3/8" x 1-3/4" MIN. EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 16" INCLUDED DESIGN LOADS: +52.0 P.S.F. & —58.0 P.S.F.
14000 PS|_MIN. CONCRETE [3/8" x 1-3/4" MIN, EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 24" INCLUDED TEST LOADS: +78.0 P.S.F. & —87.0 P.S.F. PART NO.: N/A A
' WOOD FRAME (SYP 0.55 SG)1/2" x 3" =5/8" EMBED INTO STRUCTURE 17-1/2" —2:D. Unless Stated Otherwi 8585 Duke Boulevard
[14GA STEEL (0.060” MIN) [1/4'=14 x 1" W BUILDEX TEKS SELF-DRILLING FASTENER 7-1/4" [T 0D. TOLERANCES e | S nlnpay Mosan, OF 45040 USA Rl o RO
[12GA STEFL (0.105" MIN.) [1/4"—14 x 1" W BUILDEX TEKS SELF-DRILLING FASTENER 12-3/4" |17 0.0. -l Il NG S13-7r0-4800 |\ /& TIPS T
1/8" STEEL 1/4"—14 x 1" ITW BUILDEX TEKS SELF—DRILLING FASTENER 15-1/4" |1 O.D. 0 = +.031 [CORPORATION Fox No. 513-770-4853
* FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR INSTALLED 688 = I'g(‘)g DESCRIPTION:  COMMERCIAL RIBBED DOORS UP TO 12'2"W (SEE TABLE)
AT LEAST AS HIGH AS THE DOOR OPENING. 000 = . ) ; .
CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS. 0000 = +.001 |DRAWN BY: SH DATE: 1/10/13 |SCALE: NTS DWG.
MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2—1/2", EXCLUDING STUCCO THICKNESS. Degrees = +1/2 CHECKED BY: SH DATE: 1/10/13 |SHEET 2 OF 3 (SIZE
Unl Stated Otherwi
D?MeesﬁsmﬁseARE N INCHES. | DWG. NO.: 104813 VER: TDI

FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513

4

A

3



. | i A & 2 1

SHEET! REVISIONS
MODELS AVAILABLE (CLOPAY/ HOLMES/ IDEAL) 3 OF 3
524W8. 520W8 / 204W8 / CASTWS. COSTWS REV. NO.| ZONE: | DATE: ECN NO.| APPVD:; DESCRIPTION
' ' 02 = - = = SEE REVISION HISTORY ON SHEET ONE.
" TRA ' HORIZONTAL TRACK D
DOORS UP TO 800 LBS. SUPPORT BY DOOR ANGLE MOUNT JAMB CONFIGURATI
NOTE DOUBLE TRACK DOOR COUNTERBALANCE s"jrgébLER oSSl ag%f_” w» B_CONFIGURATION
HEADROOM, HI—LIFT TRACK, : - i " . BT RS UP TO 800 OPTIONAL STOP MOULDING ~18 GA. MIN. GALV. STEEL
THE- = BY INSTALLER (TO SUIT). | INTERMEDIATE STILE -
Ry iy IR08F 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 7—0"] 76" BRACKET MOUNT JAMB CONFIGURATION ( ) T s o 2x6 SYP JAMB (IF PRESENT;
e i NERTCAL EGT JAMB WITH (3) 5/16" X 1-5/8" LAG SOREWS 6" 8" SEE JAMB NOTES ON SHEET 2).
TRACK ARE AVAILABLE : £ =671 82° 1" DOOR OVERLAP (EACH SIDE) 16 GA GALV. STEEL WITH TOG—-L—LOC SYSTEM
OPTIONS. AND TO TRACK WITH (2) 1/4 RIVETS. 8'-0"] 88 DOUBLE—END-STILE AT TOP, BOTTOM AND EACH
TRACK CONFIGURATION = —6"] 94" 2x6 SYP WOOD JAMB. FASTENED WITH MAJOR RIB. - ) .
ABOVE THE DOOR OPENING O " 9°'-0"|100" REQUIRED FOR BRACKET o Sk TOG-L-LOC SYSTEM ONE 5/16" x 1-5/8" LAG
DOES NOT AFFECT THE w AS RQD: SPACING NTE 14" 0O.C. 9—6"1106" MOUNT. ; 2% AT TOP, BOTTOM AND DeNRSRACED. AT L, g
WIND LOAD' RATING. x 10-071127 R | (LE. 3-1/2", 10", AND EVERY
S 10°—6"[118" : — £ 3=1/2, 10,
3 2" GALV. STEEL TRACK, LY " 12"). ALSO TWO LAG SCREWS
e TRACK THICKNESS: 0.083". 11011247 2-1/2" X 12 GA GALV. STEEL— \LOCMED ABOVE VERTICAL
[ Lr=2ldl, TRACK BRACKETS LI : HORIZONTAL TRACK JUNCTION.
= WOOD JAMBS WITH 5/6" X "
= b ! 7/16" 1.D. ROUND
3 T A Al PUSH NUT FASTENED T INTERMEDTE STLE. W/(4)
T &E%Tr‘lﬁAleTRégﬁﬂL%o%Es Emﬁ"f 13'“6" 1;;4" D TREORECENER RASTENER: EACH #14x5/8" SHEET METAL SCREWS
Q (1-3/4"x2-1/4"x12 GA MIN.) 14°-0"116Q" 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8" C
z MOUNT. ALL BRACKETS/TRACK 14'-6"[166" SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
& CLIPS ARE 12 GA. GALV. STEEL. 15'~0"1172" 2" GALV. STEEL TRACK FASTENED TO
& BRACKETS/CLIPS ARE ATTACHED 15'—6"[178 12 GA GALV STEEL TRACK BRACKETS ) i
TO TRACK WITH EITHER TWO 1/4" 16°—07[184" WITH EITHER (2) 1/4" DIA. RIVETS OR 2" DIA. 7-1/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
RIVETS OR ONE 1/4" BOLT AND 1 g —6"]190" (1) 1/4" X 5/8" BOLT & NUT PER
NUT. 17'=0"[196" TRACK BRACKET. SECTION €=C
17'-6"]202" LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
18'—0" 208" M Y OTH ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO
USED WITH "DOUBLE END STILE” AS NOTED ON ,‘_
SHEET 2.
3" TRACK CONFIGURATION -
RS 800 LBS AND OVER. NTER HANG. REQUIRE N ngwugmnggu OPTION
CENTER HANG REQUIRED FOR (AVAIL. FOR BOTH 2" AND 3" TRACK)
NOTE DOUBLE TRACK DOORS OVER B’ HIGH.
HEADROOM, HI-LIFT TRACK, I N DOUBLE HORIZONTAL
FOLLOW—THE— ROOF M i TRACK.
A . ™ 1" DOOR OVERLAP (EACH SIDE)
TRACK, AND VERTICAL LIFT %
TRACK ARE AVAILABLE : OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).
OPTIONS " 2x6 SYP JAMB (IF PRESENT; B
TRACK  CONFIGURATION 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK SEE JAMB NOTES ON SHEET 3). sz 16 GA GALV. STEEL DOUBLE—END—STILE FASTENED
el THICKNESS: 0.101". ANGLE THICKNESS: 0.080". HORIZONTAL TRACK L4 |  WITH TOG-L-LOC SYSTEM AT TOP, BOTTOM AND
DOES NOT AFFECT THE MIN. ANGLE DIMENSIONS 3-1/4" x 2-7/8". SUPPORT BY DOOR CENTER. " : -‘—‘?“\ e
WIND LOAD RATING. VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING  NOTALLER (TO sum. | —7/8" " /|
) i o 3-1/4" x 2-~7/8" MIN. x 0.080" TAPERED _/
'g ;cur\r{l(iJT'll'gNl}OTgvoEAg:{I“TR?\%II-(Ts SLOT TO TRACK JUNCTION GHGEES SEECEAC B°LCTOL‘333TR';‘TG,OQTBTET'E,°V¢< 7/ R ! 18 oA GALY. STELL
o . 16" L.D. ROUND FASTENED TO SECTIO:
£ B PUSH NUT #14x5/8" SHEET MEEk
@ L ADDITIONAL MOUNTING SLOTS FASTENER.
S ™ SPACED AT 12" CENTERS. i i
a 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER '!-HNGES FASTENED TO END
I TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
. —12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE. -
E NUT AT EACH MOUNTING SLOT.
L] = = e
[ 48 3" DIA. 8-1/2" LONG STEM BALL BEARING STEEL ROLLER. D W g
) SECTION C—C MANUFACTURING PRODUCT CODE
E AT e e o ues e one C-PAN-1E 448
a E : DESIGN LOADS: +52.0 P.S.F. & —58.0 P.S.F. -
= DOOR _[VERTICAL TEST LOADS: +78.0 P.S.F. & —B7.0 P.S.F. PART NO.: N/A A
HEIGHT |TRACK LENGTH Unless Stated Otherwise | 8585 Duke Boulevard WINDLOAD RATING
f=gr i TOLERANCES ore | I}Inpahy e |\ /Q DPS5RT
ST o / ) 0= +.031 |CORPORATIO Fax No. 513-770-4853
iy ONE 5/16” x 1-5/B8" LAG SCREW SPACED AT THE SAME - o
10— 8 .00 = +.015 .
1007 1087 DISTANCES AS THE TRACK BOLTS (LE. 3-1/2" 10%, 23" 34" 000 — 4 ooo |DESCRIPTION: COMMERCIAL RIBBED DOORS UP TO 12'2"W (SEE TABLE)
74—0" 156" 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & 0000 = +.001 |DRAWN BY: SH DATE: 1/10/13 |SCALE: NTS DWG.
DESIGN ENGINEER: 6/=0"] 180" 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = +1/2° . ,
MARK WESTERFIELD, P.E. I 2oan VERTICAL/HORIZONTAL TRACK JUNCTION. Unless Stated Otherwise CHECKED_BY' = Lall=VALA™ SHE_ET 30F 3 CRF
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104813 VER: TDI

4 g A 2 1



